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A Factory is engaged in the production of chemical Bomex and in the course of its
manufacture a by-product Cromex is produced which after further processing has a

commercial value. For the month of April 2019 the following are the summarised cost data:

Joint Expenses | Separate Expenses

(?) (<)

Bomex| Cromex

Materials 1,00,000 6,000 4,000

Labour 50,000 20,000 18,000

Overheads 30,000 10,000 6,000

Selling Price per unit 100 40

Estimated profit per unit on sale of Cromex 5

Number of units produced 2,000 2,000

units units

The factory uses net realisable value method for apportionment of joint cost to
by-products.

You are required to prepare statements showing :
(i)  Joint cost allocable to Cromex
(i)  Product wise and overall profitability of the factory for April 2019.

(i) Statement Showing JointCost Allocation to ‘Cromex’

Particulars Cromex (%)
Less: Post Split Off Costs (28,000)
Less: Estimated Profit (X 5x 2000 units) (10,000)
Joint cost allocable 42,000

(ii) Statement Showing Product Wise and Overall Profitability

Particulars Bomex (%) | Cromex (¥) | Total (%)
Sales 2,00,000 80,000 | 2,80,000
LessSharemJomtExpenses (1,38,000)* (42000) (180000) __
LessPostSphtOffCosts (36000) (28000) (64000)
" T T S

(*) 1,80,000 -42,000
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A Factory produces two products, ‘A" and 'B' from a single process. The joint processing costs

during a particular month are :
Direct Material

Direct Labour

Variable Overheads
Fixed Overheads

€30,000
79,600

¢ 12,000
32,000

Sales: A- 100 units@ 600 per unit; B — 120 units @ <200 per unit.
I. Apportion joints costs on the basis of:

(i)  Physical Quantity of each product.

(i)  Contribution Margin method, and
Il Determine Profit or Loss under both the methods.

Total Joint Cost

Amount (%)
Direct Material 30,000
Direct Labour 9,600
Variable Overheads 12,000
Total Variable Cost 51,600
Fixed Overheads 32,000
Total joint cost 83,600
Apportionment of Joint Costs:
Product-A Product-B
l. (i) Apportionment of Joint T 38,000 T 45,600
ARG G Hiabis Of 8360 283600 o
Physical Quantity 100+ 120units 100-+120unis
(ii) Apportionment of Joint
Cost on the basis of
‘Contribution Margin
Method':
Variable Costs (on X 23,455 328,145
basis of physical
units) ?51,600‘ 100 ?51,600. <120
100 +120units 100 +120units
Contribution Margin 36,545 -4,145
(¥600x100 - 23,455) | (¥200x120 — 28,145)
Fixed Costs* 3 32,000
Total apportioned cost ¥ 55,455 ¥ 28,145
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Il. (iii) | Profit or Loss:

When Joint cost apportioned on basis of physical units

A. Sales Value % 60,000 T 24,000
B. Apportioned joint cost on ¥ 38,000 T 45,600
basis of ‘Physical
Quantity:
A-B | Profit or (Loss) 22,000 (21,600)
When Joint cost apportioned on basis of ‘Contribution Margin Method’
C Apportioned joint cost on ¥ 55,455 728,145

basis of ‘Contribution
Margin Method’

A-C | Profit or (Loss) 34,545 T (4,145)

* The fixed cost of ¥ 32,000 is to be apportioned over the joint products A and B in the ratio of
their contribution margin but contribution margin of Product B is Negative so fixed cost will be
charged to Product A only.
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A company's plant processes 6,750 units of a raw material in a month to produce two
products 'M" and 'N".

The process yield is as under:

Product M 80%
Product N 12%
Process Loss 8%

The cost of raw material is &80 per unit.

Processing cost is € 2,25,000 of which labour cost is accounted for 66%. Labour is
chargeable to products 'M'and 'N' in the ratio of 100:80.

Prepare a Comprehensive Cost Statement for each product showing:
(i)  Apportionment of joint cost among products 'M' and 'N' and
(i)  Total cost of the products 'M'and 'N'.

Comprehensive Cost Statement

Particulars Total Cost Product-M Product-N
(%) ) ®)
No. of units produced * 5,400 units 810 units
Cost of raw material (¥ 80 x 6,750 5,40,000
units)
Processing cost:
- Labour cost (¥ 2,25,000 x 1,48,500
66%)
- Other costs (¥ 2,25,000 - 76,500
1,48,500)
Total joint cost 7,65,000
(i) Apportionment of joint costs
between the joint products
Labour cost in the ratio of 100:80 1,48,500 82,500 66,000
1,48,500x100 1,48,500x 80
L 180 ] [ 180 J
Other joint costs (including material) |  6,16,500 5,36,087 80,413
in the ratio of output 6,16,500x5,400 || ( 6,16,500x810
(5,400:810) { 6,210 J L 6,210 J
(ii) Total product cost 7,65,000 6,18,587 1,46,413

* No. of units produced of Product M = 6750 units x 80% = 5400 units
No. of units produced of Product N = 6750 units x 12% = 810 units
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Mayura Chemicals Ltd buys a particular raw material at & 8 per litre. At the end of the
processing in Department- |, this raw material splits-off into products X, Y and Z. Product
X is sold at the split-off point, with no further processing. Products Y and Z require further
processing before they can be sold. Product Y is processed in Department-2, and
Product Z is processed in Department-3. Following is a summary of the costs and other
related data for the year 2019-20:

Particulars Department

1 2 3
Cost of Raw Material v 4,80,000 - -
Direct Labour ¢ 70,000 ¢4,50,000 ¢6,50,000
Manufacturing Overhead 748,000 ¢2,10,000 ¥4,50,000

Products

X Y Z
Sales (litres) 10,000 15,000 22,500
Closing inventory (litres) 5,000 - 7,500
Sale price per litre (?) 30 64 50

There were no opening and closing inventories of basic raw materials at the beginning as
well as at the end of the year. All finished goods inventory in litres was complete as to
processing. The company uses the Net-realisable value method of allocating joint costs.

You are required to prepare:
(i)  Schedule showing the allocation of joint costs.

(i) Calculate the Cost of goods sold of each product and the cost of each item in
Inventory.

(iii) A comparative statement of Gross profit. (10 Marks)
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(i) Statement of Joint Cost allocation of inventories of X, Y and Z
Products Total
X(®) Y ®) Z ) )
Final sales value of 4.50,000 9,60,000 15,00,000 | 29,10,000
total production | (15,000 x ¥ 30) | (15,000 x ¥ 64) | (30,000 x ¥ 50)
(Working Note 1)
Less:  Additional - 6,60,000 11,00,000 | 17,60,000
cost
Net realisable value 450,000 3,00,000 4,00,000 | 11,50,000
(at split-off point)
Joint cost allocated 2,34,000 1,56,000 2,08,000 | 5,98,000
(Working Note 2)
(ii) Calculation of Cost of goods sold and Closing inventory
Products Total
X %) Y () Z[®) )
Allocated joint cost 2,34,000 | 1,56,000 2,08,000 | 5,98,000
Add: Additional costs - 6,60,000 11,00,000 | 17,60,000
Cost of goods sold 2,34,000 | 8,16,000 13,08,000 | 23,58,000
(COGS)
Less: Cost of closing 78,000 - 3,27,000 | 4,05,000
inventory (COGS x 100/3%) (COGS x 25%)
(Working Note 1)
Cost of goods sold 1,56,000 | 8,16,000 9,81,000 | 19,53,000




é TRP Sir

CA RAHUL PANCHAL
(iii) Comparative Statement of Gross Profit
Products Total
X(R) Y®) Z[R) ®)
Sales revenue 3,00,000 9,60,000 11,25,000 | 23,85,000
(10,000 x T 30) | (15,000 x ¥ 64) | (22,500 x ¥ 50)
Less: Cost of goods 1,56,000 8,16,000 9,81,000 | 19,53,000
sold
Gross Profit 1,44,000 1,44,000 1,44,000 | 4,32,000

Working Notes:
1. Total production of three products for the year 2019-2020

Products | Quantity Quantity of Total Closing
sold in closing inventory production inventory
litres in litres percentage (%)
(1) (2) 3) @=[2)+@)} | () =(3)/(4)
X 10,000 5,000 15,000 100/3
Y 15,000 - 15,000 -
Z 22,500 7,500 30,000 25

2. Joint cost apportioned to each product:

- Total Joint cost
TotalNetRealisable Value

x NetRealisable Value of each product

Joint cost of product X = <2390 » =4 50,000 = 7 2,34,000
211,50,000

Joint cost of product Y = <2309 , 23 50 000 = 7 1,56.000
211,50,000
7 5,98,000

Joint cost of product Z = x T 4,00,000 =% 2,08,000

< 11,50,000
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2. further Processrng Dedsfon
b

4 4
Incremental ®Bpproath Total Approach
dales aoFtetr FP a) Profit o+ 40P
fales a+ S0P X 4013 Q40P X
Increroentar 5ales ¥ ~JoiInt (ost x)
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MAY 19
sales (OGO X yo) £0,000
Piohrt (000X 8) (10,000)
Tota! (654 70,003
- FP CO5+ (d8000) (HOOOT 18600 +6000)
Joint cosk of Cromex 42000

(WNYY: Jarot Cost oF  Bomex:
Tota! Jornt Cos+
Jornt Cost OF Cromex

-

120,000 (100000 + S0,000 +35000)
(43000)

Jornt Cost GF Bomex 138000
L Peofrtabr ity -
ParticalQrs Romex Crormex Toto)
Aarles Q00,000 L3000 QOO0
(000X100) (ROOBXYS )

- gg)_’;t:

Jornt (o5t (138000 ) (42000 ) (183000 )

FP _Cos+ (36000 ) (28000 ) (64000 )

Profre 60006 10,000 36000
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Nov 19

((ON-D - Jornt COs+:

brrect+ moterra) 30,000
Drrect Lobout 9600
varroble or 12000
varrable o s+ 51600
Eryed O# 32000
83600

1. Apportronroent OF JoiNt Cost:

Q) Phgs rca) Quontriy:

Prod uct unrt+s Jont  Cost
A 1060 300 (23600 X 100/520)
) 120 45 600 (#3600% 120/2 20)
Torow 20 ¥3600
e o Unr+s rotro
B Copttrbpbion margrn — Fc ' contribudron rane
varraple 4C)les Frxed
Produet UDItsS  cosbt CONI'ts X5P) contribrron _ Co5t+
[ 100 RI456 60,000 36645 3006
B 190 RE1Ys Y000 LIy %) —
ot R0 1600 84000 - 33y00 32000

LA
(RarfooFf unrts)

R. Profrtabrirty:
Phgs;rou M eOosSu re

(Ratic oF (‘onrn‘l')'u}r‘on)

4r0ce contrrbudion s

negotrve For product 8 - EBntfre
Fe wrrl be allscared 1o Produckp .

cantributron marg n

Portrculors 2} 2} A B8
sares 66,006 4000 66,000 Y 000
©Joror (63+  (3800) (46600 (554 565) (4 8145)
(Q34SS+330060)
Profrt 22000 (U660 Y546 QILRY,
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Nov 20
OND : Jornt COSF:
materral (67850 %x80) 540,000
Progcuigg
- labour (225000 ¥ 664) rH8S00
“ other (350001 48900) 76500 /LGbOUt‘ 114 <00 : (160 :90)
65000 —nggr 1616500 UNIHs Tatve

1. Apportronme Ok of Joint Cost:

Producks unl+« otber Je + _(abour =  Toral Jont+ (0354
m 5400 RI608Y 22 SO0 618587
(6750 % o) (148500 X!0%/180)
N 810 8Oy 13 66000 146413
(6750 X 132 (148500 % €S jgp,)
610 @lgsoo wxso‘o 76000

( SY6,080+76500) (100:90)
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(N~ :3ummory: Dept!
matena) Y Ro,000
Lobout 70,000
MANVFICIU NG O ¥ R000
Jornt (os+ 698000
;’ _V_ zf'
Quontrty Produced 18000 ISo00 30,000
X &P x 30 X X
Sares ot soP 430000 x x
Dept 2 Dept 3
Fp labour | 450,000 630,000
Ccost oH 210,000 4 0,000
666,000 N vloo,—om
Y %
Guontrty Produced 1sceo 36,000
X4p X6y x So
Lales qfter FP 960,000 660,000
nN-2) - Quogtrt” Produced:
Por+reurgrs ® Y 2
®uantity Soid 10,000 SO0 2S00
+Ctosrng Fer Looo ~ 700
~opening Fe = - -
Quantrry Produced 1S000 16000 36,000
Y. ppportinnment ae Jornt (os+: (NRy Metnod)
Product (sales aPfer FP~FPCB3t) NRYV Joint Cosd
X 4so000 WYoo06
Y (360000 - 660-000) 300,00 156000
2 (1BCOLED -1 1Co,000)  H00,000 Y080O00
Totat 180,000 598006
. COCrs & ProFIt:
Partcurars . S Y 5
Jornt cos+ 34000 [ £6000 Q08000
£P st - 660,000 160000
Co5k 0F ProduUchon 134000 ©16000 13080Co
- Clostng $tock (7 8000 ) - (327000)
34000 ( 1308000 >
{W 6000} 30,000 7300
COC$ [ 56000 816000 981000
+ Proft (% y000) (44000 T44 006>
dore s (QtySotd X SP) 300,000 960000 11dS000
( 10,000X30) ( 15600%64 ) (L4500 x S6)
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XYZ Limited manufactures three joint products A, B and C from a joint process. Product B
is sold at split off point whereas product A and C are sold after further processing. 10% of
the quantity of product A is lost in further processing. Data regarding these products for
the year ending 31st March,2023 are as follows:

A B c
Number of units produced and sold 3,60,000 | 2,10,000 4,50,000
Selling price per unit at split off point - <6 -
Selling price per unit after further processing €9.50 - 12
Further processing costs ¢ 8,60,000 - | €10,40,000

The joint production cost upto the split off point at which A, B and C become separable
products is & 57,26,000.

Required:

(i)  Prepare a statement showing apportionment of joint cost to the products using Net
realizable value method.

(i)  Assume XYZ Limited has received an offer from D Limited to purchase product 'A' at
the split off point at & 7 per unit and another company PQR Limited has offered to
purchase product 'C' at split off point at 9 per unit.

Advise whether these offers should be accepted or not? (5 Marks)
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ABC Company produces a Product ‘X' that passes through three processes: R, S and T.
Three types of raw materials, viz., J, K, and L are used in the ratio of 40:40:20 in process
R. The output of each process is transferred to next process. Process loss is 10% of total
input in each process. At the stage of output in process T, a by-product 'Z' is emerging and
the ratio of the main product ‘X' to the by-product 'Z" is 80:20. The selling price of product
X' is 60 per kg.

The company produced 14,580 kgs of product X’
Material price : Material J @ ¥ 15 per kg; Material K @ 9 per kg.

Material L@ ¥ 7 per kg Process costs are as follows:

Process Variable cost per kg (<) Fixed cost of Input (<)
R 5.00 42,000
S 4.50 5,000
T 3.40 4,800

The by-product ‘'Z' cannot be processed further and can be sold at & 30 per kg at the split-
off stage. There is no realizable value of process losses at any stage.

Required:

Present a statement showing the apportionment of joint costs on the basis of the sales
value of product ‘X" and by-product 'Z' at the split- off point and the profitability of product
X" and by-product 'Z. (10 Marks)
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ASR Ltd mainly produces Product 'L" and gets a by-Product 'M' out of a joint process. The
net realizable value of the by-product is used to reduce the joint production costs before
the joint costs are allocated to the main product. During the month of October 2022,
company incurred joint production costs of € 4,00,000. The main Product 'L" is not
marketable at the split off point. Thus, it has to be processed further. Details of company's
operation are as under:

Particulars Product L By- Product M
Production (units) 10,000 200
Selling price per kg <45 o
Further processing cost ¢ 1,01,000 -

You are required to find out:
(i)  Profit earned from Product 'L'.

(ii) -~ Selling price per kg of product 'L', if the company wishes to earn a profit of <1,00,000
from the above production. (5 Marks)
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(WN-D* 50 mf\’)QfL’p:

Nov 23

JoInt Cost = 876000

Decrs1on:
offer 40 bhale product ¢ aQt S0P

OfFer to sale produckr A at S0P Should be Qqccepfed .
rejected.

BA J d
A o) c
QuUantrty 210,600
X5p X 6
foles q+ A0P 12, 60,000
FP 860,000 040,000
Co4+
A ¢
Quantrty 360,000 460,000
x 4P x 9.5 X 12
Sales ofter FP 34200600 5400,000
L. Apportronment of  Jornt Cost: (NRy Method)
Producks  (5ales oFter FP- FP (05t) _NRV Joint (osk
A (3420,0060 — 860,000 ) <S69000 1793000
B 1260000 2820600
c (5400,000 —1640,000)  $360,600 3062000
9180,0006 878000
2. fu t Processin 5[00:
Por+reutors a c
5Qles Qfter Fp 340,000 5y00,000
= 4ales o+ 0P (Yo0,000 x ) < 800,000 4050,000
Produck A C A+ 30P) 100\, (?) (450000%9)
~ FP (054 (o)
Produck A (AFrer Fp) 30 360000
Incrernental Revenue 620,000 1380,000
- Incremental FP Co 5+ (866,000 ) (1040.000)
Incremental Profrt [(1055) (Ry0,600)> 316,000
scille a+ SOP  : Produck A
Aale RFter Fp : Product ¢

thould be




é TRP Sir

CA RAHUL PANCHAL

N 22

Tot+al Jornt (054 400,000
= NRY OF 8y Product (200 xS) (1000)
399000
i. Profr+ froro Produgy L :
5Q1€5 (10,000 % 46 ) 460,000
- Joint ¢os4 CLon-1) (399000)
- FP Cobt (1oro0e)
LOSS (50,000)
<. 5gl[mg Price OF Prod ek L ¢
Jornt ¢os4 Ceon-1) 399000
FP _Cob4 101000
Totral (o4 SCOL00
Profrt 100,000
dales 600,000
~%ales @uantrty = 16,000
60

£Qllrn9 Peree Per unit .
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MAY 22
(LON~D t
JoI 0f Cost : 10,000
(werght 6 F out put)
"I < \L
X Et =z
Quantrty 100 ds) o)
x5p x S x 70 x b
$ales at soP <S00 4 900 3600
Fp 2000 1200 Y00
cost
W
Quantrty 60 70 go
x SP X 806 x S0 x 60
5qles Qfter FP $600 §600 Yoo

(N-D: Jornt st aQpportlonment: (weght of output)

d0le o+ S0P
dole Qfter £P:

2. further Processing Decrsran:

Prodver Y.
Preduct X % 7

_Producrs  _unrks Joint Cost
X 100 Yoo00
Y 70 1800
pa) ') 3co
16 16,0006
1 Prafrta bilrty Qfter FP:
fFartrcarors X Y %
s0les QFfer FP 5000 8600 4300
=) Jornt (054 (Yooo) (2800) (3200)
FP (o5t (R000) (1300 ) (®00)
Prokit (1000) 1600 R0G
@N-3) : Profrtabrlrty ot SOP:

Partrcurars X Y £
dales at S0P 4 SO0 49060 3600
-Jornt (654 (Ly000) (R€00) ( 3200)
Profrt (1 so) 2100 400
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In an Oil Mill four products emerge from a refining process. The total cost of input
duri ng the quarter ending March 20X8 is ¥1,48,000. The output, sales and additional
processing costs are as under:

Products Output in Litres Additional Sales value
processing cost ()
after split off (%)

ACH 8,000 43,000 1,72,500
BCH 4,000 9,000 15,000
CSH 2,000 - 6,000
DSH 4,000 1,500 45,000

In case these products were disposed-off at the split off point that is before further
processing, the selling price per litre would have been:

ACH (3) BCH (3) CSH () DSH (3)
15.00 6.00 3.00 7.50 |

PRODUCE a statement of profitability based on:
(i) Ifthe products are sold after further processing is carried out in the mill.
(ii) If they are sold at the split off point.

(WN-1): dpmmory:
Joint  Cost: 14000
" A% L 4
A 8 C D
RUANtTHY ROOO Looo 2000 Yooo
x 4P XIS X 6 X3 X Y&
4105 Qt S0P 120,000 booo 6000 30,000
FP Cost - 43000 8660 1800
Sales affer Fp 1738006 18000 43000

(WN-D : ApPPOrtianment oF JC:
(&F questron rg 4rient +hen e qssume hat Company Fatlows sales
Yalue at SOP method) .

Products dales ot 4ap Jorny Cost
A 120,000 3%667
] 24,600 19733
c 6,000 4933
D 36,000 y6ecr
Totad 1€6,000 148000
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4. Proft (IF Products are sord after £Pp)

Partrculors A 8 c D Tota)
fales gfter FP 173800 16000 6000 42000 238800
© Jorht Cost (3%669)  (19733) (4933) (yeer) (I42000)
© F? Cost (43000) (3060 ) - (1600)  ($3500)
Protit | Closs) 30833 (13733) 166 18333 Yyo00
3 2oht ((Tf Producks Qre sald ay so0P) -

Partrcators A 8 d 0 Totad
sales af SoP 120,000 LYo00 6000 35000 1R0,000
) Taind Cost (3t66y)  (19733) (4933) (yeer) [142000)
Proft | Clos s) 21333 4267 1667 R333 32000
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A Company manufactures one main product (M1) and two by-products B1 and B2. For
the month of January 2013, following details are available:

Total Cost up to separation Point ¥ 2,12,400

M1 B1 B2
Cost after separation _ - | ¥35,000 24,000
" No. of units produced 4,000 1,800 3,000
Selling price per unit %100 40 T30
~ Estimated net profit as percentage to sales w | 20% | 30%
Value
.Estimated selling expenses as percentage | 20% 15% 15%
to sales value

There are no beginning or closing inventories. Prepare statement showing:
i) Allocation of joint cost; and
ii) Product-wise and overall profitability of the company for January 2013.

Stateraent dhowing Jornt Cost & Profft:

Par+reen1ors I Q| Q2 Tota

Joint (ost 178100 100 O Q3506 > 21%Yao

Fp (ot - 33000 L boos <9000

semir\g Exp 80,000 10 §od 13800 104306
(UL ROY) (TR000XI%) (G000 X/SY)

Total (ost 3 STI0e 87606 63000 371v%00
(JRocox0%)  (90,60x30k )
Sales . Yo0,000 Rooo 36,000 8600

( 4ooo x106)> (1830 X Yo) (30606 X306)
Joint Costof M = A2AY66 ~11806 —3$S00 = | TS100
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* Contrrbuwon Margro Metued.
\IC : unifs Rako
f¢ ' contnbuyiocn Rako

Example: ve 1000
FC  <obo
Jc <00
4 ' R
A B
Qry 66 4o
X<y XIS X R0
Sares 9060 g00s

Aprorricn Jovnt (o<t Usrv\g Contr’'bUbon Morgin m<etned,
Soltehon:
Produds. ghy v C Sales Coatr bahion _FC

A 6o 600 900 Y00 Y
B o 400 Q06 400 R 36
Totaw loo 1000 IToe 160 goo

Units Co & vibubon
Raxio Rads o
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A factory produces two products, 'Ghee' and 'Cream’ from a single process. The joint-
processing costs during a particular month are:

Direct Material ¥ 60,000
Direct Labour 319,200
Variable Overheads T 24,000
Fixed Overheads ¥ 64,000

Sales: Ghee - 200 litre @ T 600 per litre; Cream - 240 litre @ ¥ 200 per litre. REQUIRED:
I.  Apportion joints costs on the basis of:

(i) Physical Quantity of each product.

(i) Contribution Margin method, and
[l. Determine Profit or Loss under both the methods.

(LN~ 5ummor9:

Ve 103206 (66,006 +19200 +24000)

Fe 64000
Jc 167200
2 ' oA
(rhee dream
Quanfrty 200 40
x4f x 600 x 00
bales at S0P 130,000 Y gooo
4) Physical puantrty ™Method (Sales~Cost)
_Produc  _Quantrty Joint  Cost sales Prop+
(rhee Q00 76000 126,000 Y4000
Cream QY0 91200 48000 (4 3200)
Tota@) 440 167200 16 8000 800

Y (ontribtrsn Margin Metnod: (Sales—ve)

Produet _Quontrty _ Ve sales Contrrpuiyon Fc Pro At
(rhee R00 46909 120,000 Y309 6 Y000 9091
Cream o §629] bgooo (3291) ~ (929D
Tot®) byo 163200 168000 ¢ Yysoc 6Yooo 200

s S Contribuham %
RaHo RaHo
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‘Buttery Butter' is engaged in the production of Buttermilk, Butter and Ghee. It
purchases processed cream and let it through the process of churning until it
separates into buttermilk and butter. For the month of January, 2020, ‘Buttery Butter’
purchased 50 Kilolitre processed cream @ % 100 per 1000 ml. Conversion cost of

% 1,00,000 were incurred up-to the split off point, where two saleable products were
produced i.e. buttermilk and butter. Butter can be further processed into Ghee.

The January, 2020 production and sales information is as follows:

Products Production (in  Sales Quantity (in Selling price per

Kilolitre/tonne) Kilolitre/tonne) Litre/Kg (%)

Buttermilk 28 28 30
Butter 20 — —
Ghee 16 16 480

All 20 tonne of butter were further processed at an incremental cost of ¥ 1,20,000 to
yield 16 Kilolitre of Ghee. There was no opening or closing inventories of buttermilk,
butter or ghee in January, 2020.

Required:

(i) SHOW how joint cost would be apportioned between Buttermilk and Butter
under Estimated Net Realisable Value method.

(i) ‘Healthy Bones' offers to purchase 20 tonne of butter in February at ¥ 360 per kg.
In case ‘Buttery Butter’ accepts this offer, no Ghee would be produced in
February. SUGGEST whether ‘Buttery Butter’ shall accept the offer affecting its
operating income or further process butter to make Ghee itself?

(O N=-D 5ummgr|; :
eregm:[(60x 1600 L)% 100} 5oL
CoOnVersIon o
Jom+ Cos+ 5L
J J
BuHetmri K _ Butter
QUanHty (REXI000) <000 (20 xr000) 0,000
X 4P (perirtred X80 x 360
4ates ar 50P 840,000 TA00,000
Fp 120,000
| Irtre = 1000101 (oSt .
| Kriolr+re = 1opo !1tres
_Ghee
Quantry (16 x1008) 16000
X$P x 4 o
Sa1es gfier FP 7 680,060
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4. AppoTHioNment oRf Jornt+ (ost (NRY method)
Partrcurars (Sales after FP -~ FP Cost) NRY Je
BuHermri kK 40,000 gl10,000
Butter (7620,000 ~120,000) 760,000 45 90,000

2 400,000 100,000

Portrcutars Toral
sales QFter €P (Ghee) 760,006
dales o+ S0P (Butter) (ofeer) 700,000
Tncremental 5ales 40,000
-Incrementa) Fp (oot - 10,000
Yro i+ 360,000

Decrsron - Componc, shoutd Serr ofter FP (1.2.Ghee)

OFfer OF Butter (1.2 fo 40le a4 $0P) Should be IRjecked




A TRP Sir

CA RAHUL PANCHAL
A Factory is engaged in the production of chemical Bomex and in the course of its

manufacture a by-product Cromex is produced which after further processing has a
commercial value. For the month of April 2019 the following are the summarised cost

data:
Joint Separate Expenses (3)
Expenses () Bomex Cromex

Materials r 1,00,000 C 6,000 C 4,000
Labour yeox J 50,000 acp J 20,000 QgkJ 18,000
Overheads L 30,000 L 10,000 L 6,000
Selling Price per unit 100 40
Estimated profit per unit on

sale of Cromex 5

2,000
units

2,000

Number of units produced
units

The factory uses net realisable value method for apportionment of joint cost to
by-products.

You are required to prepare statements showing :

(i) Joint cost allocable to Cromex

(i)  Product wise and overall profitability of the factory for April 2019.

5 hOw!] I ¢ (70,000~28000)
Partrecatacs ROMmex Cronnex Total
Jornt (ost  (180Kk-43K) — @ 186,006
Fp Cos+ 36000 Y8000 Y000
Total Cos+ 17 6000 70,000 44000
+Profi (R6000) 16,000

(Sx000)
fales 200,000 80,000 80,000
Cloo xRk000) (Y0 x10006)
¢
Rexerse

CoSt Shee -
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* _Quantity @p: Quanhty Produced

Qs: Quanhty do10
Apporhonment oF TC

300 o P
&* B(‘ Producy Q@ Prsp 5ales Jc
P 1006 100 A 106 Xlo 1000 [KeYe)
Qs 100 - ) 150 xQ6  Roo6 206
Uoslh_c) - 100 3006 300 (Rrg‘fﬂ‘)
sP 10 Q0
AppoTtron IC Hosed on Qs
bales @F 500 Preduer (s x6P 5ales Tc
) 100 X0 1000 A6
B - X6 - _
1060 3006

" JC wr1l be apportroned based on  Sales vaiye OFR
Quanhry praclyceq)

(r+. QP x<p)
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A company's plant processes 6,750 units of a raw material in a month to produce two
products 'M'and 'N'.
The process yield is as under:

Product M 80%
Product N 12%
Process Loss 8%

The cost of raw material is % 80 per unit.

Processing cost is ¥ 2,25,000 of which labour cost is accounted for 66%. Labour is
chargeable to products 'M'and 'N' in the ratio of 100:80.

Prepare a Comprehensive Cost Statement for each product showing:
(i) Apportionment of joint cost among products 'M'and 'N' and
(ii) Total cost of the products 'M' and 'N'.

(N=D * SummMary: uonrts
67so materray : (67S0x%0): §40,000

Labout (3S000X 667) 143300
other (RSO0 X3Yr) V6500

. | Joint (ost . T6S0G60
_m _ N
Quant'ty - (6T7SCR80%) (QTISOXIQZ)
XUe¥e 310
1. dtaterment £houomq Total (oSt
PArtrcaniars m N
materiad 469565 Yoy3s
(FY0,000 1 400 % B10)
Labour 2S00 660D
(14300 1D 100:80)
oHer 66622 9928

(76360 10 §900-R10)

Tota! (o4t . 618687 1Yy 6Yy13




